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B F—L aites @ 4xa00mR  TE 200m  400m  800m  1500m 5000m 110mH 400mH 3000msC 3000mW FEEP HEBE EMEH =EBE FANiE FMBER Ao OYFE 24 200m  400m  800m  1500m 5000m 110mH 400mH 3000mSC 3000mW EZPE HEB: ENERE =EEM RAIE FABE -1 PYER
4x100mR 100m 100m
1 &M 2225 8 8 246 8+7 45 7+8 86 8+7 2 7+8 6 8+1 68 2+7 7 46 7+8 8 5+8 6 5+8 8
2 R 1215 7 6+4 3 2 5 4 8+7 5+3 2 5 6 2+5 8 8+5 5 6 6 4
3 ftE % 3 6 3 4 7 8 8+6 8 3 47 3 8+6 7 5
4z 87 17 3 5+8 6 1 1 3+8 3 4 7 2+7 3 1 6 4 8
5 &L 80 2 6+5 7 6 3 6 7+8 36 1 6+7 7
6 Pk 69 7 3 6+5 2 2+4 5 5 3+8 1 214 6+5 1
7 &l 58 4 4 3 8+7 7 2 4 1 2 5+4 7
8 B 50 2 1 3+2 4 8 8 8+6 8
9 BE 45 2 7+2 1 1 1 2 3 8 5 8 5
10 SREBEEFAE 44 1 6 4 7+3 1 3 4 8+7
11 ERHER 42 6 5 5 6 51 1+6 3 4
12 kil 375 1 3 1+4 55+7 7+6 3
13 gl 37 6+8 5 6 7 5
14 BEXE 28 6 4 4+3 2 3 6
15 AL E 25 8 3 2+1 4 7
16 ILanfE 23 6 8 4 5
17 #@snb 23 1 1 5 2 4 3 7
18 BEAKTER 21 5 6 7 3
19 A KFE 205 45 3 2 2+1 1 5 2
20 #%3 19 7 7 5
21 REME 16 5 4 7
22 Fls 16 2+ 6 4 2+1
23 MMAEFA 135 4 4 55
24 FRE2 13 4 1 8
25 EEA 13 5 6 2
26 1 12 4+3 5
27 T% 11 2 3 6
28 %FE 2 4 4 1
29 FESEES 10 1 4+5
30 @t 9 2+7
31 FHEREA 8 5 3
32 %5 8 +2 5
33 WL 7 7
33 KM 7 7
35 L3 7 5 2
36 5 7 1 3 1 2
37 3@l 6 4 2
38 IZIHT 5 3 2
39 k#E 4 4
39 K& 4 4
E3 4 4
3 3
42 E0 3 3
42 Jbs 3 3
42 TEXHK 3 3
46 FEZ I 2 2
47 %M@ 1 1
47 WEXH 1 1




BEBR EHE
E5SE A B FF R — R BB TIE

187 (3HE)
W EDOFIN-¥

BF
B F—Ls &38a 1HF 200m  400m 800m 1500m 5000m 110mH 400mH 3000mSC 3000mW FEE Bk =Bk FEiEBk ZEEBE Fafid MRS A% DUYE
100m
18 1035 6+2 7+8 45 8+7 8+6 7+8 2 8+7 6 1+8
2 R 67 4+6 3 2 5 4 8+7 5+3 2 5 6 5+2
3zl 46 5+8 6 1 1 8+3 3 2 7
4 FEE 44 3 4 7 8 6+8 8
5 &4t 29 2 5+6 7 6 3
6 FEIEIS 29 7 3 5+6 2 2+4
7 E I 27 3 8+7 7 2
8 BN 26 1 3+2 4 8 8
9 JhusE g 25 6+8 5 6
10 I iifE 23 6 8 4 5
11 RHEFEE 20 6 4 7+3
12 #5E0 19 7 7 5
13 EiEXE 17 6 4 4+3
14 RE 14 2 7+2 1 1 1
15 5 13 142 6 4
16 WESKEE 12.5 45 3 2 2+1
17 4 12 3+4 5
18 Nl pkE 11 8 3
19 FE%t 11 5 6
19 WEAR 11 5 6
21 @ 9 2+7
22 ¥kl 9 1 3 4+1
23 SIGEETFA 8 4 4
24 mECKHME 7 7
24 &1L 7 7
26 @& 7 1 1 5
27 mEEE 5 5
27 AEHER 5 5
27 W3 5 5
30 FAEE 5 4 1
31 BE 4 4
32 BB 3 3
32 @2 3 3
32 WA 3 3
35 &% 3 2+1
36 FHZ 2 2
37 LA 1 1
37 W5 1 1
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JBRE F—Ls &3tB5 2% 200m  400m  800m 1500m 5000m 110mH 400mH 3000mSC 3000mW FEES Bk =Bk ENEBE =EEB faiid MRS Avv—1% DU
100m
1 &8 103 8+6 2+7 7 4+6 8+7 8 5+8 6 8+5 8
2 &4 51 6 8+7 3+6 1 7+6 7
3 fEE 43 3 4+7 3 6+8 7 5
4 B 42 8 5+8 5 6 6 4
5 TG 40 5 5 8+3 1 4+2 5+6 1
6 KRR 31 2 3 8 5 8 5
7 23 31 742 3 1 6 4 8
8 Hkil 28.5 7+5.5 6+7 3
9 WEEFEE 23 1 3 4 8+7
10 Bl 23 4 1 2 5+4 7
11 B3 22 8+6 8
12 ERKFR 21 5 6 7 3
13 TERHR 20 1+5 6+1 3 4
14 2504 16 2 4 3 7
15 2L E 14 2+1 4 7
16 JviEuH 12 7 5
17 TEBFLE 11 4 7
18 EiEXIE 11 2 3 6
18 T% 11 2 3 6
20 FHER 10 1 5+4
21 & 9 4 4 1
22 g 8 8
23 WS KT 8 1 5 2
24 3E)1| 6 4 2
25 k5 6 3 1 2
26 M METFA 55 55
2] £5% 5 5
28 IEIBT 5 3 2
29 K& 4 4
29 k¥ 4 4
31 b 3 3
31 FHRERE 3 3
33 b5 3 2+1
34 Lk 2 2
34 FEE+E 2 2
36 I At 1 1




